FREE PRODUCTS WITH AMALGAMATION OF COMMUTATIVE INVERSE SEMIGROUPS*

TERUO IMAOKA

(Received 1 March 1974; revised 30 June 1975)

Communicated by T. E. Hall

1. Introduction

A class of algebras \mathcal{A} is said to have the strong amalgamation property if for any indexed set of algebras $\{A_i: i \in J\}$ from \mathcal{A} , each having an algebra $U \in \mathcal{A}$ as a subalgebra, there exist an algebra $B \in \mathcal{A}$ and monomorphisms $\phi_i: A_i \rightarrow B$ (for each $i \in J$) such that

(i) $\phi_i \mid U = \phi_j \mid U$ for all $i, j \in J$,

(ii) $\phi_i(A_i) \cap \phi_i(A_i) = \phi_i(U)$ for all $i, j \in J$ with $i \neq j$,

where $\phi_i \mid U$ denotes the restriction of ϕ_i to U. Omitting condition (ii) gives us the definition of the weak amalgamation property.

The development and importance of the (weak) amalgamation property in various branches of algebra are described in Jónsson (1965). In his paper (1975), Hall proves that the class of inverse semigroups has the strong amalgamation property. His result gives us strong hope that there may be other classes of semigroups which have the strong amalgamation property. The purpose of this paper is to prove that the class of commutative inverse semigroups has the strong amalgamation property. In Section 2 we prove it by constructing the free product amalgamating a common inverse subsemigroup, in the variety of commutative inverse semigroups. In Section 3 we show a simpler proof using the fact that the class of semilattices has the strong amalgamation property [Hall (1975), Remark 5].

It is clear that in a class of algebras closed under isomorphisms and the formation of the union of any ascending chain of algebras, the strong amalgamation property follows by transfinite induction from the case in which |J| = 2. Hence we shall consider in this paper only the case |J| = 2.

Let $S = \bigcup_{\alpha \in I} S_{\alpha}$ be a semigroup which is a semilattice I of subsemigroups S_{α} of S. Hereafter "an element x_{α} of S" means "an element x_{α} of S_{α} ". Let S be

an inverse semigroup and X be a subset. We let $\langle X \rangle$ denote the inverse subsemigroup of S generated by X. The notations and terminologies are those of Clifford and Preston (1961, 1967) and Preston (1973), unless otherwise stated.

2. Strong amalgamation property

Let S and T be commutative inverse semigroups with a commom inverse subsemigroup U. We can assume without loss of generality that $S \cap T = U$. Let E(S), E(T) and E(U) be the sets of idempotents of S, T and U respectively. Let $S^{(1)}$, $T^{(1)}$ and $U^{(1)}$ denote the commutative inverse semigroup $S \cup \{1\}$, $T \cup \{1\}$ and $U \cup \{1\}$ obtained by adjoining an identity 1 to each of S, T and U (whether or not they already have identities). It is clear that $(S^{(1)} \times T^{(1)}) \setminus \{(1, 1)\}$ is isomorphic to the free commutative inverse semigroup product S * T, say, of S and T. Hereafter we let S * T denote $(S^{(1)} \times T^{(1)}) \setminus \{(1, 1)\}$. It follows from Exercise 6 of [Clifford and Preston (1961), Section 1.9] that $S^{(1)} = \bigcup_{\alpha \in E(S^{(1)})} S_{\alpha}$, $T^{(1)} = \bigcup_{\alpha \in E(T^{(0)})} T_{\alpha}$ and $U^{(1)} = \bigcup_{\alpha \in E(U^{(0)})} U_{\alpha}$ where S_{α} , T_{α} and U_{α} are maximal subgroups, with identity α , of $S^{(1)}$, $T^{(1)}$ and $U^{(1)}$ respectively. By the uniqueness of decomposition, $U_{\alpha} = S_{\alpha} \cap T_{\alpha}$ for each $\alpha \in E(U^{(1)})$.

Define a relation ρ on S * T as follows:

(1) For any elements (x, y), (x', y') of S * T, denote $(x, y)\rho_0(x', y')$ to mean that (x, y) = (a, b)(u, 1) and (x', y') = (a, b)(1, u) for some $(a, b) \in S^{(1)} \times T^{(1)}$ and $u \in U$. Let $\rho_1 = \rho_0 \cup \rho_0^{-1} \cup \iota$ and $\rho = \rho_1^{-1}$.

Then of course ρ is the congruence on S * T generated by $\{((u, 1), (1, u)) | u \in U\}$ [Clifford and Preston (1961), Section 1.5]. Let $(x, y)\rho$ denote the ρ -class containing (x, y) in S * T.

LEMMA 1. If $(x, 1)\rho(x', y')$, then there exists $\sigma \in E(U^{(1)})$ such that $\sigma y' \in U^{(1)}$ and $x = x'(\sigma y')$.

PROOF. Let $(x, 1)\rho(x', y')$. By the definition (1), there exist $(a_1, b_1), (a_2, b_2), \dots, (a_n, b_n)$ in S * T such that $(x, 1) = (a_1, b_1), (x', y') = (a_n, b_n)$ and $(a_i, b_i)\rho_1(a_{i+1}, b_{i+1})$ for $i = 1, 2, \dots, n-1$.

We use induction on *n*. For n = 1, $(x, 1) = (x', y') = (a_1, b_1)$ and we take $\sigma = 1$. So we assume that the statement is true for n - 1. By the induction hypothesis, there exists σ in $E(U^{(1)})$ such that $\sigma b_{n-1} \in U^{(1)}$ and $x = a^{n-1}(\sigma b_{n-1})$.

First we assume $(a_{n-1}, b_{n-1})\rho_0(a_n, b_n)$; then there exist $(c, d) \in S^{(1)} \times T^{(1)}$ and $u \in U^{(1)}$ such that $(a_{n-1}, b_{n-1}) = (c, d)(u, 1)$ and $(a_n, b_n) = (c, d)(1, u)$. Now $u \in U_{\tau}$ for some $\tau \in E(U^{(1)})$ and then

$$\tau \sigma b_n = \tau \sigma du = (\sigma b_{n-1}) u \in U^{(1)}$$

since σb_{n-1} , $u \in U^{(1)}$. Then because both belong to $S^{(1)}$, we can consider the product of a_n and $\tau \sigma b_n$ in $S^{(1)}$, and

Teruo Imaoka

$$a_n(\tau\sigma b_n)=c(\sigma b_{n-1})u=a_{n-1}(\sigma b_{n-1})=x.$$

Similarly we may prove the statement in the case $(a_{n-1}, b_{n-1})\rho_0^{-1} \cup \iota(a_n, b_n)$. We obtain the lemma.

We define mappings $\phi_1: S \to (S * T)/\rho$ and $\phi_2: T \to (S * T)/\rho$ as follows:

$$\phi_1(x) = (x, 1)\rho$$
 for all $x \in S$,
 $\phi_2(y) = (1, y)\rho$ for all $y \in T$.

LEMMA 2. (i) ϕ_1 and ϕ_2 are monomorphisms such that the following conditions are satisfied:

$$\phi_1 \mid U = \phi_2 \mid U,$$

$$\phi_1(S) \cap \phi_2(T) = \phi_1(U)(=\phi_2(U)).$$

(ii) $(S * T)/\rho$ is the free product S * UT, say, of S and T amalgamating U in the variety of commutative inverse semigroups.

PROOF. It is clear that ϕ_1 is a homomorphism.

Let $\phi_1(x) = \phi_1(x')$ where x and x' are elements of S. Then $x \in S_{\alpha}$, $x' \in S_{\beta}$ for some $\alpha, \beta \in E(S)$, and $(x, 1)\rho(x', 1)$. By Lemma 1, there exist σ and τ in $E(U^{(1)})$ such that $x = x'\sigma$ and $x' = x\tau$. Then $\alpha = \beta \leq \sigma\tau$ and x = x'. Hence ϕ_1 is a monomorphism. Similarly ϕ_2 is a monomorphism.

Since $(u, 1)\rho(1, u)$ for any u in U, it is immediate that $\phi_1 | U = \phi_2 | U$.

Let $\phi_1(x) = \phi_2(y)$ where x and y are elements of S and T respectively. Then $(x, 1)\rho(1, y)$. By Lemma 1 and its dual, there exist σ , τ in $E(U^{(1)})$ such that $x = 1 \cdot (\sigma y) \in U^{(1)}$ and $y = 1 \cdot (\tau x) \in U^{(1)}$. Let $x \in S_{\alpha}$, $y \in T_{\beta}$ where $\alpha \in E(S)$ and $\beta \in E(T)$. Since $U_1 = \{1\}$, $\alpha, \beta \in E(U)$, $\alpha = \beta \leq \sigma \tau$ and $x = y \in U$. Hence $\phi_1(S) \cap \phi_2(T) \subseteq \phi_1(U)$. It is trivial that $\phi_1(S) \cap \phi_2(T) \supseteq \phi_1(U)$. Thus $\phi_1(S) \cap \phi_2(T) = \phi_1(U)$, and (i) follows.

Part (ii) is of course obvious.

Now we have the following theorem, as an immediate consequence of Lemma 2(i).

THEOREM 1. The class of commutative inverse semigroups has the strong amalgamation property.

Since the direct product of two semilattices and its homomorphic images are semilattices, we have the following corollary, due to [Hall (1975), Remark 5].

COROLLARY 1. The class of semilattices has the strong amalgamation property.

The following corollaries are easy to prove directly or by using [Jónsson (1965), Theorems 3.4, 3.5].

248

Commutative inverse semigroups

COROLLARY 2. Let S_i , T_i and A be commutative inverse semigroups such that S_i is a subsemigroup of T_i and ϕ_i is a monomorphism of S_i into A, where i ranges over an index set I. Then there exists a commutative inverse semigroup B such that A is a subsemigroup of B and each ϕ_i extends of a monomorphism of T_i into B.

COROLLARY 3. For any commutative inverse semigroup S, there exists a commutative inverse semigroup T such that S is a subsemigroup of T and any isomorphism between inverse subsemigroups of S extends to an automorphism of T.

3. Another proof

In this section, we assume [Hall (1975), Remark 5], that is, the class of semilattices has the strong amalgamation property. Let S and T be commutative inverse semigroups with a common inverse subsemigroup U. As we said in Section 2, we assume without loss of generality that $S \cap T = U$. By the assumption above there exists a semilattice L such that E(S) and E(T) are embedded in L and $E(S) \cap E(T) = E(U)$ in L. Then $L^{(1)}$ contains $E(S^{(1)})$ and $E(T^{(1)}) \cap E(T^{(1)}) = E(U^{(1)})$ in $L^{(1)}$. We define a relation θ , depending on L, on S * T (= $(S^{(1)} \times T^{(1)}) \setminus \{(1,1)\}$) as follows:

(2) $(x_{\alpha}, y_{\beta})\theta(x'_{\gamma}, y'_{\delta})$ if and only if $\alpha\beta = \gamma\delta$ (in $L^{(1)}$) and there exists $u_{\sigma} \in U^{(1)}$ such that $\sigma \ge \alpha\beta$ (in $L^{(1)}$) and $(u_{\sigma}, u_{\sigma}^{-1})(x_{\alpha}, y_{\beta}) = (\sigma, \sigma)(x'_{\gamma}, y'_{\delta})$ (in $S^{(1)} \times T^{(1)}$).

It is routine to show that θ is a congruence on S * T. Thus $(S * T)/\theta$ is a commutative inverse semigroup. Let $(x, y)\theta$ be the θ -class containing (x, y).

We define mappings $\phi_1: S \to (S * T)/\theta$ and $\phi_2: T \to (S * T)/\theta$ as follows:

```
\phi_1(x) = (x, 1)\theta where x \in S,
\phi_2(y) = (1, y)\theta where y \in T.
```

LEMMA 3. (i) ϕ_1 and ϕ_2 are monomorphisms such that the following donditions are satisfied:

$$\phi_1 | U = \phi_2 | U,$$

$$\phi_1(S) \cap \phi_2(T) = \phi_1(U)(=\phi_2(U)).$$

(ii) If L is the free product $E(S) *_{E(U)}E(T)$, say, of E(S) and E(T) amalgamating E(U) in the variety of semilattices, then $E((S * T)/\theta) \cong L$ and $(S * T)/\theta$ is the free product of S and T amalgamating U in the variety of commutative inverse semigroups.

PROOF. It is easy to see that ϕ_1 is a homomorphism. We assume that $\phi_1(x_{\alpha}) = \phi_2(x'_{\beta})$ where x_{α} and x'_{β} are elements of S. Then $(x_{\alpha}, 1)\theta(x'_{\beta}, 1)$. By the

Teruo Imaoka

definition (2), $\alpha = \beta$ and there exists $u_{\sigma} \in U^{(1)}$ such that $\sigma \ge \alpha$ (in $L^{(1)}$) and $(u_{\sigma}, u_{\sigma}^{-1})(x_{\sigma}, 1) = (\sigma, \sigma)(x'_{\alpha}, 1)$ (in $S^{(1)} \times T^{(1)}$). Then $u_{\sigma} = \sigma$ and $x_{\alpha} = x'_{\alpha}$. Hence ϕ_1 is a monomorphism. Similarly ϕ_2 is a monomorphism.

Let u_{α} be an element of U. Since $(u_{\alpha}^{-1}, u_{\alpha})(u_{\alpha}, 1) = (\alpha, \alpha)(1, u_{\alpha})$,

$$\phi_1(u_\alpha) = (u_\alpha, 1)\theta = (1, u_\alpha)\theta = \phi_2(u_\alpha)$$

Thus $\phi_1 \mid U = \phi_2 \mid U$.

Let $\phi_1(x_{\alpha}) = \phi_2(y_{\beta})$ where $x_{\alpha} \in S$ and $y_{\beta} \in T$. Then $(x_{\alpha}, 1)\theta(1, y_{\beta})$. By the definition (2), $\alpha = \beta$ and there exists $u_{\sigma} \in U^{(1)}$ such that $\sigma \ge \alpha$ (in $L^{(1)}$) and $(u_{\sigma}, u_{\sigma}^{-1})(x_{\alpha}, 1) = (\sigma, \sigma)(1, y_{\alpha})$ (in $S^{(1)} \times T^{(1)}$). Then $\sigma = \alpha$ and $x_{\alpha} = y_{\alpha} = u_{\alpha}^{-1} \in U^{(1)} \cap S = U$. Hence $\phi_1(S) \cap \phi_2(T) \subseteq \phi_1(U)$. It is trivial that $\phi_1(S) \cap \phi_2(T) \supseteq \phi_1(U)$. Thus $\phi_1(S) \cap \phi_2(T) = \phi_1(U)$, and we have proved (i).

Let $\iota_1: E(S) \to L$ and $\iota_1: E(T) \to L$ be inclusion mappings. Since $L = E(S) *_{E(U)} E(T)$, there exists the unique homomorphism $\xi: L \to E((S * T)/\theta)$ such that $\xi \iota_i = \phi_i$ for i = 1, 2. Note that $E((S * T)/\theta) = \{(\alpha, \beta) \theta: (\alpha, \beta) \in E(S * T)\}$ from [Clifford and Preston (1967), Lemma 7.34]. Let $\eta: E((S * T)/\theta) \to L$ be a mapping defined by

$$\eta((\alpha,\beta)\theta) = \alpha\beta, \text{ for all } (\alpha,\beta) \in (E(S^{(1)}) \times E(T^{(1)})) \setminus \{(1,1)\}$$

It is routine to show that η is well-defined and is a homomorphism and that $\xi\eta$ is the identity mapping on $E((S * T)/\theta)$. Since $\eta\xi$ maps E(S) and E(T) identically and $L = \langle E(S) \cup E(T) \rangle$, $\eta\xi$ is the identity mapping on L. Thus ξ is an isomorphism and $L \cong E((S * T)/\theta)$.

Let W be any commutative inverse semigroup and let $\psi_1: S \to W$ and $\psi_2: T \to W$ be homomorphisms such that $\psi_1 | U = \psi_2 | U$. Let $\psi_1^{(1)}: S^{(1)} \to W^{(1)}$ and $\psi_2^{(1)}: T^{(1)} \to W^{(1)}$ be extensions of ψ_1 and ψ_2 respectively. Let $\mu: (S * T)/\theta \to W$ be a mapping defined by $\mu((x, y)\theta) = \psi_1^{(1)}(x)\psi_2^{(1)}(y)$. In order to prove the latter part of (ii), it is sufficient to show that μ is well-defined. Let $(x_\alpha, y_\beta)\theta(x_\gamma, y_\delta)$ where (x_α, y_β) and (x_γ, y_δ) are elements of S * T. By the definition (2), $\alpha\beta = \gamma\delta$ (in $L^{(1)}$) and there exists $u_\sigma \in U^{(1)}$ such that $\sigma \ge \alpha\beta$ (in $L^{(1)}$) and $(u_\sigma, u_\sigma^{-1})(x_\alpha, y_\beta) = (\sigma, \sigma)(x_\gamma, y_\delta)$ (in $S^{(1)} \times T^{(1)}$). If $\sigma = 1$, then $(x_\alpha, y_\beta) = (x_\gamma, y_\delta)$ and $\mu((x_\alpha, y_\beta)\theta) = \mu((x_\gamma, y_\delta)\theta)$. Let us assume $\sigma \ne 1$. Since $\xi: L \to E((S * T)/\theta)$ is a homomorphism, $(\sigma, \sigma)\theta \ge (\alpha, \beta)\theta = (\gamma, \delta)\theta$. Then

$$\mu((x_{\alpha}, y_{\beta})\theta) = \mu((\sigma, \sigma)\theta(x_{\alpha}, y_{\beta})\theta) = \mu((u_{\sigma}, u_{\sigma}^{-1})\theta(x_{\alpha}, y_{\beta})\theta)$$
$$= \mu((\sigma, \sigma)\theta(x_{\gamma}, y_{\delta})\theta) = \mu((x_{\gamma}, y_{\delta})\theta).$$

Thus μ is well-defined and we obtain the lemma.

From Lemma 3(i), Theorem 1 follows immediately, so the proof of Lemma 3(i) is our second, simpler proof that the class of commutative inverse semigroups has the strong amalgamation property.

Commutative inverse semigroups

[6]

REMARK. If L is not the free product of E(S) and E(T) amalgamating E(U) in the variety of semilattices, then $E((S * T)/\theta)$ is not necessarily isomorphic to L.

Acknowledgements

I wish to express my thanks to Dr. T. E. Hall, my supervisor, for pointing out to me the question that my theorem answers and for suggesting many improvements. I wish to express my thank to Professor G. B. Preston for suggesting the direct proof of Section 2.

References

- A. H. Clifford and G. B. Preston (1961, 1967), The Algebraic Theory of Semigroups (Math. Surveys, No. 7, Amer. Math. Soc., Providence, R. I. Vol. I, Vol. II).
- T. E. Hall (1975), 'Free products with amalgamation of inverse semigroups', J. Algebra (to appear).
- Bjarni Jónsson (1965), 'Extensions of relational structures', *The Theory of Models* (Proceedings of the 1963 International Symposium at Berkeley, edited by J. W. Addison, L. Henkin and A. Tarski, North Holland, Amsterdam), 146–157.
- G. B. Preston (1973), 'Inverse semigroups: some open questions', Proceedings of a symposium on inverse semigroups and their generalizations, Northern Illinois University, 122-139.

Department of Mathematics Monash University Clayton, Victoria Australia, 3168.

Present address: Shimane University Mastue, Shimane Japan, 690.